
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 



SUGGESTED ANSWERS TO QUESTIONS  

Section – A 

 

 

Answer to Question No. 1(a)                                           1X10=10 

(i) –  (B)  

(ii) –  (C )  

(iii) –  (C ) 

(iv) –  (A)  

(v) –  (A)  

(vi) –  (B)  

(vii) –  (B)  

(viii) –  (B)  

(ix) –  (C )  

(x) –  (C )  

 

Answer to Question No. 1(b)                                                                                   1X5=5 

(i) –  (B)  

(ii) –  (A)  

(iii) –  (E)  

(iv) –  (C )  

(v) –  (D)   

 

Answer to Question No. 1(c )                                                     1X5=5 

(i) Cash 

(ii) Rs. 7,200 

(iii) Rs. 7,20,000 

(iv) Rs. 1,05,000 

(v) Information 

 

Answer to Question No. 1(d)                                            1X5=5 

(i) False 

(ii) False 

(iii) False 

(iv) False 

(v) False  
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Section-B 

[Answer any FIVE from Question No. 2 to 8] 

(15X5=75 Marks) 

 

Answer to Question No. 2                    15 Marks 

Pune Branch Account Total - Rs. 1,81,600 

 

Answer to Question No. 3                               15 Marks 

Trading Account Total- Rs. 13,15,000 (Gross Profit Rs. 2,50,000) 

Profit and Loss Account Total of Rs. 2,54,500 (Net Profit after tax Rs. 64,800) 

Balance sheet Total- Rs. 11,80,800 

 

Answer to Question No. 4                    15 Marks 

Realization Account Total- Rs. 5,53,700 

Cash Account Total- Rs. 4,62,700 

Partner‟s Capital Accounts Total- 

P- Rs. 1,67,516 

Q- Rs. 1,67,516 

R- Rs. 58,000 

S- Rs. 65,840 

Answer to Question No. 5(a)                   10 Marks 

 

(i) False; As per AS 1 „Disclosure of Accounting Policies”, certain fundamental accounting 

assumptions underlie the preparation and presentation of financial statements. They are usually 

not specifically stated because their acceptance and use are assumed. Disclosure is necessary if 

they are not followed. 

(ii) False; As per AS 1, if the fundamental accounting assumptions, viz. Going concern, 

Consistency and Accrual are followed in financial statements, specific disclosure is not 

required. If a fundamental accounting assumption is not followed, the fact should be disclosed. 

(iii) True; To ensure proper understanding of financial statements, it is necessary that all significant 

accounting policies adopted in the preparation and presentation of financial statements should 

be disclosed. The disclosure of the significant accounting policies as such should form part of 

the financial statements and they should be disclosed at one place. 

(iv) False; Any change in the accounting policies which has a material effect in the current period or 

which is reasonably expected to have a material effect in later periods should be disclosed. 

Where such amount is not ascertainable, wholly or in part, the fact should be indicated. 

(v) True; As per AS 1, there is no single list of accounting policies which are applicable to all 

circumstances. The differing circumstances in which enterprises operate in a situation of diverse 

and complex economic activity make alternative accounting principles and methods of applying 

those principles acceptable. 
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Answer to Question No. 5(b)             2+3=5 Marks 

(i) Entity A should account for a loss in the Statement of Profit and Loss on de-recognition of the 

carrying value of plant and machinery in accordance with AS 10 on Property, Plant and 

Equipment. Entity A should separately recognize a receivable and a gain in the income 

statement resulting from the insurance proceeds once receipt is virtually certain. The receivable 

should be measured at the fair value of assets provided by the insurer. 
 

(ii) The expenditure in remodeling the store will create future economic benefits (in the form of 

15% of increase in sales). Moreover, the cost of remodeling can be measured reliably, therefore, 

it should be capitalized in line with AS 10. 

 

Answer to Question No. 6                    15 Marks 

Receipts and Payments Account  Rs. 80,550 

 

Answer to Question No. 7(a)

 

                                                                                                  10 Marks 

Cash Value of the Machine- Rs. 25,977 

 

Answer to Question No. 7(b)                                                                                                   5 Marks 

ABC Ltd. should charge the amount of Rs. 4,00,000 to Profit and loss statement and record the 

corresponding liability (amount payable to XYZ Ltd.) for the same amount in the books for the year ended 

31
st
 March, 2021.   

 

Write short notes on any three 

(5X3=15 marks) 
 

Answer to Question No. 8(a)                   5 Marks  

         It helps the trade know about his debtors and creditors from to time 

         It helps the trader to prepare the final accounts to reflect the true trading results at the end of 

period 

 It provides a Balance Sheet on a particular date to know the true value of assets, liabilities and 

capital 

 It helps the trader who can have a comparative study of working results and financial position 

over a number of years 

 It helps to find out and prevent errors and frauds 

 It provides ready-made information to be sent to Sales tax and Income Tax Authorities 

 It provides good guidance on which management take new decisions to increase the profit and 

correct losses into profit 

 

Answer to Question No. 8(b)                    5 Marks  

The main objectives of depreciation policy are given below. 

 Description is the allocation of the cost of the asset over its effective life and being „tax 

shield‟ is deductible expense while calculating taxable income of the concern. Diminishing 

balance method of calculating depreciation results in greater tax saving in a balanced firm is 

compared to straight line method. 

Total -
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 To keep intact the capital invested in depreciable assets and to make provision for the 

replacement, modernization and expansion on most favourable terms. It is process of 

allocation and helps the management to retain this amount of profit in business for replacing 

asset. Otherwise this profit would have gone to the Government in the form of tax. 

 To match the cost with revenue, depreciation is necessary to measure the cost incurred during 

a given period. Thus, know correct net income and financial condition for external reporting. 

 Depreciation helps to measure managerial performance. But, charging it on historical cost or 

replacement cost basis is again a controversial issue and will affect the managerial decisions 

to be taken by the top management. Differences in costs because of charge of depreciation 

under different methods, tend to mislead management in selecting their operational alternative 

for more profitable for the firm as a whole. 

 Withdraw of asset before the end of its useful life is not up to standard to cope with the 

increasing competition in the market but due to the external factor of technological 

improvements in the existing asset is refereed to obsolescence. In such atmosphere the asset is 

depreciated quickly otherwise profit and loss account will be over burdened with the amount 

of loss on account of obsolescence in the year in which the asset obsoletes. 

 Serving consistently to follow a particular method of depreciation otherwise would make the 

financial statements unreliable to the stakeholders. It means convention of consistency. 

 Depreciation makes to retain funds for replacement asset at the end of its working life 

 Apportioning total cost of the asset over its useful life is achieved by charging depreciation; 

and investing such amount of depreciation the public may not misled and correct investment 

decision may be made. 

 

Answer to Question No. 8(c)                    5 Marks  

Distinguish between Hire Purchase and Instalment Purchase 

Factor Hire Purchase System Installment Purchase System 

 

Transfer of Ownership 

Ownership in the goods sold passes 

to the buyer only on payment of the 

last installment 

Ownership in the goods passes to 

the buyer immediately at the time 

of sale 

 

Recovery of Goods 

If the buyer fails to pay any 

installment, the seller can recover 

the goods back from buyer 

The seller cannot recover the 

goods but he can sue for recovery 

of price and damages 

Forfeiture of installments 

paid 

If the buyer default in payment, the 

seller can forfeit money paid by the 

buyer so far 

Money paid by the buyer will be 

taken as a payment towards part 

of selling price and the seller can 

sue only for the balance 

 

 

 

Accounting Entries 

In the books of purchaser, vendor is 

debited with full purchase price 

once contract signed. Amount due, 

if any, is shown separately as a 

liability of the purchaser and not a 

deduction from the asset 

In the books of vendor, the 

purchaser is credited with full 

price. Purchased goods become 

property of the buyer and shown 

in his Balance Sheet at cost less 

depreciation 

  

Answer to Question No. 8(d)                    5 Marks  

As per Section 5 of the Negotiable Instruments Act, a bill of exchange is an instrument in writing 

containing an unconditional order, signed by the maker, directing a certain person, to pay a certain sum of 

money only to, or to the order of a certain person or to the bearer of the instrument. The essential of bill of 

exchange are as: 
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 There are three parties the “Maker‟ is termed as the „Drawer‟ in Bill of Exchange. He is the 

creditor. The person liable to pay the money is called the „Drawee‟. The person entitled to get 

the money is termed as the „Payee‟. It should be noted that drawer himself can also be the 

payee. It must be  drawn on a specific person 

 The bill drawer being the creditor, orders the drawee to pay a certain of sum money. 

 A Time Bill of Exchange can be made payable to the bearer. 

 It is an instrument in writing and unconditional 

 It must be in writing, dated, stamped and signed by Drawer 

It  must  be  payable  in demand  or  after a definite period of time, and for a certain amount of
 

__________________
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 
money


